Section 1.3
#33-45,57-65

33. Graph
a. LimitatOis 1; the hole doesn’t matter. The limit is the y-value

b. Limitat-1is3 (y-value)

34. Graph
a. Limitat-2is-5

b. Limitis -3 (y-values)

35. Graph
a. Y-valueis 2 (hole is unimportant)
b. Y-value or limitis 0

36. Graph
a. Limit does not exist because the graph does not come together at 0
b. Limitis-1 (hole doesn’t matter)

3. oy
¥ -1 x+1
. Iifx-1 .
= lin (r+ Dix= 1) {f factor special case
¥=-=1 x+1
= lim (x—1) /cancelrepeat
==l
=-1-1
=-2
2xt—x-73
38, Im

(z+ 12x-7)
x+1

= lim

==l

im (2x—-73) /cancelrepeat

i -1
= 2(-1)-73
=-2-3
-5

£ factor leading coefficient not 1




4+
39, L x+&

(x+2) (xz - 2x+4
litmy ! factor cubes

e x+1

lim (xg - 2x+ 4] i cancel repeat

¥

(-2 - 2(-21+ 4

=4 +4+4
=14
= -5
4l
40  lm =4
[x+1}[x2—x+1
= lim {f factor cubes
¥ -1 x+ 1
= lim [xg—x+1] i cancel repeat
¥ -1
2
=0 --1+1
=1+1+1
=3
=-5
x—35
41. L] XE—ES
x—5

= xhinj TS ED] ff factor special case

i canecel repeat



2-x

lirn

42. v xt— 4
= lIm Sk S {f factor special case
¥=2 |:X+ 2:”:?(— 2)
-(x-2) |
- s Dix-2) i swap order when subtracting
-1
= m —— ff cancel repeat
=12 [x+ 2) P
_ -1
T 2+2
__1
C 4
P ex-2
43. _—

x=1 xg—l

- GI D=1 ff factor

o =+ 2)

RN TR ff cancel repeat
1+2

+1

pal iy —




i 70

¥—=0 X

_ fim a;‘2+x—u‘r§ _ »4'2+x+m5
¥ x qf2+x+m5

(NZox ) + 2NZr 5= 2T - (f2)]

44,

{f rationalize

= lim i FOIL
¥l x[«.l'2+x+m5]
. 2+x-12
= lim flcancel
¥=0 x[«\,n'2+x+ '\IIE]
- tm x
x=+0 x[a,n'2+x+ «JE]

) 1
= hitn ——m————
¥—=0 M+Aﬁ
1
NN
_1
2.2




45.

lim

¥—=0

~ fin -"x,ll3+.x_/\l|r§ _ «I3+x+u’§
¥ 0 & J3+x+wﬁ

(N3vx) +of3afarn = f3f3em- (3
= A3z A3

I+x-3

= lim fleancel

¥=+0 x[m+ »\EJ

arx-Af3

! f rationalize

{fFOIL

= lin

w1 x[ﬁ+ '\I'E]

: 1
- lim ———
K=l «.-'3+x+AJr§
1
RNERRNE




sec 8- 1

59. anp eec &
o (1fcos&E -1 1
Canp Hlicos & fisec &= cos &
. (licos& -1 cosé@ : . .
= b e Teos &) cosé £ roultiply sarme thing on topbottom to cancel complex fractions of Licos
. l-cozgd
= ]_1_‘['_[1 _—
#—0 &
=0 //from formula
. cog tan &
60, m—g
B E}n.:, & f ftan &= oz &
. sné :
= lim —— [/cancel cos m numerator
d—=0 &
=1 f/ffrom formula
3
. osinx
lim
61. o X
= tim 22 Y piein®x = sing - sing
a0 X 1

Ly —




62.
¥=0 &
=]Jmtan_xtan_x fitan®x = tanx tanx
=0 1
- smx tanx ftanx = ——2
rap XCOST 1 Cosx
sz tanx | ipl
- Im =205 {{ doesn't matter order when multiplying
_, tand
~ oozl
0
=1 ! f calculator
=
g (L7003
63. B0 A
. 1 -cosh -
~ fim LT Lmoosh oo o (- cosh (1 - cosh)
B0 % 1
=|:|.1_';DSD { | formula
1-1
=1
litn gsec g
64. o
= lim ¢ 1




65.

cosx

¥—= ald cotx

cosx
¥ ald 1/ tanx

fleotx = 1
tah x

litn tanzcosx /S reciprocal of Ltanis tan
¥— xid

S X

x
ccosx fManx=
vy af2 COSX COSX

i sinx Heancel
= axld

sin)T
2

1 f{calculator



